Test 1 Name: k‘ éy(f

Dusty Wilson

Math 111 — Fall 2009 The last thing one knows when writing
a book is what to put first.

No work = no credit Blaise Pascal (1623 - 1662)

French mathematician

Closed Book & Closed MNotes

Warm-ups (1 pt each) (=3)= E = = %: <G

1.) (1 pt) According to the quote by Pascal (see above), what is the last thing written in a book?
Answer using complete sentences.

The. Aafgﬁ&;&;\w ‘8’ Vs {;,L‘Q‘ oi S€ ”&;& w T f“a’y\ﬁ“t@ﬁw!,

2.) (2 pts) Solve 2x—10 =4 — 2(x + 2) exactly.

S
X = ie

Solution:

3.) (2 pts) Solve x* +10x+10 = 0 exactly.

Y —Vo iJ}a&c&-«»—%iiXUo)l
- X= =
208

—te 7t Jes

Z.

2 X =
Solution: X = - S =+ J s

4.) (2 pts) Solve (2x~1)" ~30=0 exactly.
: 2
=2 (2%~ Y=

= Qx-) = 4 6

= 2X
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Solution:
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5.) (2 pts) Solve the inequality 5x+3>4(1-x). gmwm&ﬁﬁﬁﬁ
=D SXA LD ey

f@ X2 %} Solution: (\,ﬁ/‘ﬁ ; @”’&}

6.) (2 pts) Solve |[1-Fx | 5 7. Express your answer in interval notation.

2 oo T -2x g
S Cax < b
7 =% {-ax g
=2 g 2’ 32X ?? - & Solution: E_wg i Lij

=) %Lig‘%?ng

7.} (4 pts) Express the following expressions in the standard z = g+ bi form of a complex
number.

a) (2 pts) (2-37) +(=1+4i)

¢
Solution: 3 -+
L 2-3 S
b. 2 t E3 Rttty
) (2 pts) <1 P
. e . "“"Z;,:
- E(‘} - 2 [ i qu., e ?’L
=2 —
5 - ik
_ g VRN B~ 90
5 o T P A7 ¢
2.& Solution: 74 246
& S e

8.) (2 pts) Finck the distance between the two points (~3,6) and (0,-4).
: T ‘1
., . _ . ’zu
DI TS S
o
= \} ‘% ¥ oo

Solution:
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9.) (2 pts) Find the equation of the line with slope 6 and y-intercept (0,—13) . Write your answer

in slope-intercept form.

Yz bx-]}

Solution:

10.) (2 pts) Find the slope and the y-intercept of the line 5x+2y =15

Z‘ﬁ 2 S a4 |5

5 -5 : L=
Slope: =g~ and y-intercept: %

2 -5 x 4 )5
2. 2
11.) (2 pts) Find the equation of the line parallel to the line 3x -4y =10 that passes through the

point (6,0). NH‘§ = 4+ 3y o

3= 2x- 5

“f 2 3 \)

Sétbnye :s!&f@wiggjv %:’4 g %X~ b
3

Solution: by = s

Gme s 3 (x-t)

12.) (1 pt) Is the function g(x}=x" —1 a one-to-one function?  YES\ NO
NS
13.) (2 pts) Given the function h(x)=x*+3x, find s(-5)
"2
h=5)= 1-5) + 305
YO

Solution:

14.) (2 pts) Find the vertex of the function f(x)= x> ~3x—10.

Lo 03 3%

Kz = 2
P ara
- -

s

A 2N T

EN= 5T -k (2, %2)

2z Solution:

w G =19 - Yo
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15.) (5 pts) For the given graphs, clearly check "X all that apply
5 Y &

4 Y
< .
P : : x x X
.. : | _ [
| A . | I
nEENv.4 NN TR
D A L , = F
e pd P
s - —“ > -
Clearly check "X all that apply A B C D E F

a.) The line has a positive slope. X X
b.) The line has a non-negative slope. X X X

c.) The line has a y-intercept of 3. X

>

d.) The line has a slope of —%. X

e.) The x-intercept is —1. X D{

16.) (2 pts) Given A(x) =3x-35, find and simplify the equation of 727" (x).
Y2 3x- S
. g% -G sole.  Con 4 -
D XrEF Y

s S 2 X+5 _
»9 @ . TS Solution: LS::’;@ S - L E{%
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17.) (2 pts) Use the given graph of g(x) to answer

the following questions. Give answers in ¥
interval notation. 4y Ik
. . 6 k / 2
a.) (1 pt) What is the domain of g7 A k’&lf
(\m mj m) 9
: i |
L4, o=)

18.) (2 pts) Given f(x)=6x" and g(x)=3x", find [g}(x)-(f-g)(x) S _ }

T
Solution: C;%(’f\ﬁ’g )y = éf‘%, - Ly
19.) 2 pts) Given f(x)=—6x+5 and g(x)=-x" -2, cvaluate (1 g)(4)=f[g(4)]
%WB L T 1
Sl(a@w%\ = -1 = L) s5 .

Solution: E ;%

20.) (2 pts) The graphs of y = f(x) and },j
y=g (’C) are given. Use these graphs to find

(Fo8)(2)=7s]g(2)]

D)= (A= -3

-3

Solution:
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